Addai247

_UPSSSC Previous Year Paper
Junior Assistant 4 Jan 2020 Shift 2




Test Booklet No. This Booklet R Test Booklet Series
gt gt W : contains -1.8 pages. Pa pe r 1 aeter gRteret Wi
T IR A 48 95 B[ g Booklet /4¥1a11 qf¥am
i =

[®]%[E]
a5 AB

Da not open this Test Booklet until you are asked to do so.
T wde gRaE B 0% 1 Wiel Wa a@ HE F Wi |
Read carefully the instructions on the back cover of this booklet.

L =} 39y yfrst & e s w e fAdai o e 9l
Allowed Time : 90 Minutes Maximum Marks ; 65
iR wwa : 90 fime sifdysas 3@ : 65
1. The OMR Answer Sheet is inside this Test Booklet. | 1. 311 U9, 3R, IR T5@ 29 o9& H I B

When you are directed, open the top seal of Test g Sirgent FEfE e e @ WS o1 W
Booklet, take out the Answer Sheet and fill in the TR T3P & W e o i oad By ' @y
particulars carefully with black ball point pen only. @ @IS 41d wige 99 | EATIYE S HN |
2. The test is of 90 minutes duration and consists of 130 | 2. wier &1 araf® so fve & 14 Fer 130 TEfeada v
objective type questions. Each question carry 0.5 mark & | Hol@ 1 ¥ WE 9T B T 05 3 & | TR
for correct answer. Negative Marking: For every wrong P FRAD T SR B AT T ueA @ g B
answer Y mark or 25% marks of that question will Ya Si@ 3yo7ar 25% 3 HreT e |
be deducted.
3. Use Black Ball Point Pen only for writing particulars | 3. $% % 9% fgewr T HE ¢d I T=e W R
on this page and marking responses in the Answer I & g Baa Sl @l dige U9 1 8 wan 3y
Sheet.
4. Make sure that the Test Booklet No. and Series marked | 4. 78 §fRf¥ea &v & & 3. 1. 3k, oo w3a & wd)

by you on the Answer Sheet is the same as that on this T e AT U aeian yRas Wrie ag
Booklet. & it 5 e gfersT A sifa &)

5. Rough work should be done only in the space provided | 5. ¥% (@) 1 Ten gRas ¥ € 18 @rel oe
in the Test Booklet, B & |

6. The answers are to be recorded on the OMR Answer | 6. Tl ITR @4l 301, YA, IR, 9T 99@ T8 21 aifda
Sheet only. Mark your responses carefully. No DX | Y IR EAFGES e B | IV TG B
whitener/ eraser / Blade is allowed for changing FIEETR /WS /=18 &1 w4 g &
answers,
After opening the Test Booklet, please immediately | 7. 90 qfRkra! Wie @ qea 918 oitg @ 2@ o &
ensure that no page or question is misprinted, torn or gdian gRaar @18 a1 v, wer At Ua;n i)
left blank. If any discrepancy is found in test booklet, a1 97 A 8 | AR gdien oRawr 3 B1E S o ot o
show it to Invigilator and get it replaced with test booklet IS 1 ey SR A o) gEd wder gRae
of same series. 1% #R o |
8. For any question if there is any discrepancy in Hindior | 8. 6=t 1 @0 v & o R &S swan afih
English language of that particular question the English i=qare # fasiarfay &1 v afirsf s # fam gom weA @

el

version of that question will be considered as final. H+ BT |
9. Details of Sections in Question Paper: 9. wen R A w1 Ao
w | Bubject No. of Quastoms s=or | fywy S¥) A cwn
Sectkn-1 | Hindi Knowledge & Writing Abltity 60 W1 | I ulRar vd dws aa 60
Section? | General Aptitude Test 30 HqIT-2 | denen 4 udle 30
Sections) | Genarnt Knowledge 40 W3 | FTHTA A 40

Name gf(he candidate (In (";}z_:pitals)

et 0 f R S RN, SO
Roll Number (i) ISR IO W i s
Inwords (VBN Lo s
Centre of Examination
& G g SR Ll VSOV, LSOV OT: e I
Candidate Signature Invigilators Signature
T e R et B TGP D BB Lovvovrreeesiessssnssssmsssmaneneeesserss

P-KS-1 1 SERIES-AB




ZOTTYTY

P-KS-1 2 SERIES-AB




Ql

Q2

Q3

Q4

SECTION-1 | HINDI KNOWLEDGE & WRITING ABILITY | 60 QUESTIONS

s @ oy $u @ Wi &1 @ gar &, S e ar i sar &7
(A) gfeei
(B) =ferr

(C) -TqaamferT
(D) Sxafefy

JBRIT W v &1 qgaad a9 @ forg @ fvar wrrar 22
(A) I WX D qqc1 I DY o0 T
(B) 3 WX P WM I’ & d
(C) W W & qgal T I o &)

(D) < WX P 95l AN BN o & |

ZozZZviy

¢ W WIeT #7 qga9T H T WY war 87

(A) IuHT w9 yRafda & e 21

(B) Sw& WY # P1g uRact & &rem 21

(C) wgaes % Swa Ravey &1 wavwT fhar mar 8
(D) S9® I 3 TR o oA 8§

o=t # ¥ & qgau 8-
(A) 89

(B) &1 Il
(C) &9 W9
(D) & &
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Q5 f=foles # & o5 W Fum argg &7
(A) B & A D SR 9891 Tgq9T § & I #
(B) wfmare® HRia gfect HWemeil &1 9 qgaaq § 9ae W ¥ |
(C) BB IR agaa vR! &1 yan R § vwaaw # g )
(D) 3fear &1 agaa § A w9 Ig= B

Q6 TU-FAA q4T BRYE |
9 Pra-—vfak # -1 JdAdR 8?7
(A) JsT
(B) ®UH
(C) ™y
(D) SeiEn

Q7 drnm ot fAy Y fFwA, F9 Frell SioiRl | | #lmEe BT @1 7@ = Ay gam €Y A |
T PrA-ufaTdl § PH-—H JAGR 27
(A) IrguTd
(B) %
(C) a7
(D) ftrerafa

Q8 T W BT HUT T TNE TYTY WA W waed 87
(A) 9% qd 9§ yure B 8 )
®) Tei g v wegard g &)
(C) 9% "I IR Ug W BT 8
(D) &% qd ug 3=y g 2
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Q9 o wrif¥e v # qd g 3l I ug v 81 B 3R 1 e ug yue B &, 9wl

Q10

Qll

Ql2

I GHE B 87
(A) TgAfe

(B) FHURA

(C) Tgey

(D) gaga

FTEU H DA A 87
(A) TegeY

(B) wgife

(C) FHurg

(D) e

Juifae @1 wé WR-fawme 8-
(A) 3T + SRy

B) 3T+ 9 + fa

(C) 3ur + e

(D) Tor + 3ifad

el 1 wé wR-fawe &-
(&) fgar + =i
B) fagar + andi
(C) fgg + it
(D) fagar + amefl

P-KS-1
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Q13

Ql4

Q15

Ql6

Tfaw” @1 wE wR-fwg 8-
(A) 7t + faw

B) =1 + fA®

© M+ 7@

(D) 7 + nfa®

4082202

‘TGN’ P A -y -
(A) fd + a3 + 8R

(B) @4 + BR

(€C) &4 + TER

D) & + 9 + &R

g F1 el AY-fawe 8-
(A) W + °H
(B) ¥ + quH
(C) ¥ + 3@Er

(D) ¥ + I@uH

Teff o1 v Wy -
(A) #Ed + R
(B) #e™ + XM
(C) W&+ =M
(D) #E&X + =

P-KS-1
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Q17 ‘Fwa &1 W WhR-fwe -
A) =+ =a
(B) Y + et
(©) Y + =

(D) = + sraa

QI8 weH @ ud wWR-frewy 2-
(A) §g + o
(B) ¥q + 3
(C) ¥ + gd
(D) q + &

202

Q19 f=fafed # & Ug area o1 97 Fifog—
(A) MY AR FAT AR T |
(B) W& "ol S H THIN B T |
(C) =9 FBFI B U& & A 3 formar 8
(D) 9= =1 BT YT 3T E |

Q20 fr=iffeaa % & gg a9 &1 999 -
(A) =T 9T SaTdAPY U7 |
(B) TSRl A g9 weiFar fRaw it aug faan)
(C) T &1 gl I+=T 3R ughia #|
(D) == @ fbde Qe &
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Q21 fr=faRea & & Y& a9 &1 9g7 BHitog—
(A) ¥l @R Wiear 98d &+ B |
(B) W& B A HeM gl 8 |
(C) & U 3o ad &
(D) M W H TR WA & |

Q22 ﬁﬂﬁ%ﬁﬁ@wmmmﬁﬁﬁq—g
(A)aﬁmxﬁavwaﬁvmwaﬁaa‘rg‘rgﬁem
(B) G W HHSl BY Tq41E B |
(C) I& AN [IDH! WSl S=ar &
(D) 44 3igRa 8 areh 2|

Q23 fr=faRea # & gg T &1 @ Bt
(A) 9/ deT B |
(B) &Fal TRH BT AT I B |
(C) U7 ¥ uBd G B Bl 2
(D) U TR, Sia FETRi |

Q24 fy=fafea & & yg o &1 997 Pifoe—
(A) 779 & IR # R e SHHT a9 791 G &
(B) dI o @ ¥
(C) |9® o &1 Wt & forg rewT Bl B
(D) SBM BF X & U W WHET @i |
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Q25 3‘“1 §1HT I® T ﬂ?ﬁﬁ’ BT a3yl B— 2782827

ESEE
A) 3T 989 7 <1 :
gl l ﬁ%

(B) 3= & 3y ¥ ity ¥ @ e
(C) T & |
(D) 9UEY T e o)

Q26 ‘3 I qT AR’ APifaa BT Iuga ef -
(A) e | g By
®) fvda sRRefY 3§ Suge W o &1 sa9R S
(C) faufta A eav™ &1 e v@
(D) 3TN B qTT TN T BT FAAR BT

Q27 ‘fam @1 Frer BAT BT SuGAT Ief B
(A) YA TR BT T T ATA
(B) IJUY S8 W& ATl
(C) wga e g are
(D) T P FHH

Q28 ‘F=al gl War &1 Iuga e 8-
(A) WRT 9T @i 1
(B) T BM B UIHT HEA
(C) ¥z four

(D) & & Fer BT
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Q29 ‘fvig BT BT SUYF I B
(A) TR 3R & BT
(B) & 3R &1 7 W/
(C) &1 T® &G &
(D) Bad HUR @A

Q30w TR Wiy Eaw Y AR BT S Ik -
(A) TH-gE 9 9
(B) 3% W B
(C) I P @R A AT

(D) gfdem % &

LZ9Z88E

Q31 ‘HIE ©IE & U W1 Aifde @1 Suge i B
(A) 3@ &3 BT JTH
(B) offas # Rerar &1 3@
(C) TR T HeH
(D) PR B forg F8f a8t go

Q32 W we @1 e 8-
(A) 3t
®) wfd
(C) W
(D) Ige
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Q33 W = F faam 8-
(A) @uH
(B) wuH
(©) fawm

(D) T4H

Q34 ‘A = &1 REm -
(A) gD
(B) 3t
©) s
(D) w¥elrn

Q35 ‘wHE u= &1 fdeim 8-
(A) RyE

(B) v9
(C) ured

(D) W

L7ZBT08E

Q36 ‘T & @ fAdm &
(A) IS
(B) W@
(C) i

(D) =TT
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Q37 ‘uga U= P e 8-
(A) famfaa
(B) e
(C) uRfe=
(D) 3rga

Z8Z962

Q38 fmifafaa & & dF—wr e W &1 yaigard wd &7
(A) rar
(®)
(©)
D) 3

Q39 fr=fafaa ¥ ¥ Pm—wr v ‘=X & waigard T8 27
(A) fy
(B) *Af
(C) 59

(D) =rd

Q40 Fr=feifad ¥ § PF-W Y& ‘TS HT A TE 87
(A) <&
(B) et

(€) g
(D) wdor

P-KS-1 12 SERIES-AB




Q41

Q42

Q43

frefafaa # & d—ar e ‘wefy @1 gafaard =8 87
(A) e
B) @7
(€) weh
(D) fasw

ffofaa 4 @ IF-w v @ &1 w@igard T8 87

(A) gfeam
(B) <fg=a

(C) w=ar

D) g

Q22827

29

fr=ifoiRea # 9 S o= ey &1 wibar 87
(A) B

(B) TGN

(C) ATHN

D)

frafafaa % 9§ FF—w1 v g &1 qaibarE 7@ 87
(A) @d
(B) WD

(C) go

(D) 3™
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Q45

Q46

Q47

Q438

frefafea # & @9 w1 v aom T8 87
(A) o
(B) W
(©) it
(D) wfifa

Frefofaa 3§ & o1 ar we aga &7
(A) Sema
(B) S@a™
(C) Fream™

(D) S

frfefea 4 @ @9 a1 v acw T8 82
(A) fber
B) afe
©) @@

(D) FTHE

3842827

Frfefaa 3 &4 @ w1 v agg 7 7
(A) <fa
(B) 3R
(C) 3
D) F
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Q49

Q50

Q51

Q52

F=faRe 3 9 o9 91 e aoaw 18 22

(A) 7=

(B) yo
(C) i

(D) 9%

F=fefaa 4 4 919 W v aom T8 87
(A) IS
(B) AP
(C) IE®

(D) SUEr

FrefoRaa 4 9 #9 w e aga =€ 87
(A) SUS
(B) &a
(C) Syet

(D) Sard

fr=fofaa % 9 @59 a1 v acq T8 87
(A) TR
(B) BfHvT
(C) SasH
D) BT

w0
o~
&N
o
o9
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Q53

Q54

Q55

Q56

I A faRr A it B der wrar 8-
(A) Frema=
(B) FTR
(C) TwER
D) fFreamR

ot @ A | g
(A) @

B) w7

(C) U™

(D) 3=

fora® g W T 8-
(A) &

B) fraa

(C) wfms

(D) =

T A P11 AR T T gt T 87
(A) B

(B) 3

(C) vy

(D) A9
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Q57 T | -1 UE HE' & TRl TE &7
(A) Rl
®) ™
(©) #ga
(D) ==

Q58 o wraarms SRl @ 3id ¥ ‘g’ a1 8, ST T BT 8-
(A) gfesi
(B) wifeT

(C) TYwBfHT
(D) SwafeiT

Q59 gfesiT el & WM IR Wi & o7 § ‘Fiar [&39wer o1 g9 w9 g
(A) &
B) e
(C) Fraf
(D) TR

Q60 ‘@arel’ weg # wI W foi 87
(A) gfesm
B) wifeT

(C) igwfeiT
(D) Swafe

3088170
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Q61

Q62

Q63

SECTION-2 | GENERALAPTITUDE TEST | 30 QUESTIONS

In a certain code language, GRASP is
written as INOPQ and BROWN s
written as RNSTU. How will SPARROW
be written as in that code language?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

In a certain code language, ‘1 2 3’ means
‘hot filtered coffee’, ‘3 5 6’ means ‘very
hotday’ and ‘5 8 9" means ‘day and night’.
How will ‘very’ be coded as in that code
language?

(A) 6

(B) 7

€)1

(D) 2

Select the word that can be formed using
the letters of the given word only as many
times as the letters have been used in the
word.

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON

P-KS-1

0L18¥%SE
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Q61

Q62

Q63

frdl ff¥aa @@ s # GRASP &1
INOPQ 3R BROWN @1 RNSTU & %4
# foran 741 8 | SPARROW &1 ¥ 18
wmar 3 6w yar farar s

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

farel ff¥aa g T #, 123" @raei 2
gfe frecs SHY, 356" FTapf & a0
gc S R 589 @ aef R ? TS
T | SW TS A A B B
Hifea far smgm?

(A) 6

(B) 7

(©) 1

(D) 2

W U &1 999 &, o R Ry e
Y& B R BT SN I AR IS
T S waan &7 o ar 3w v i
et &1 SUAT AT B |

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON
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Q64

Q65

Q66

If the word NUPKIPM is unscrambled,
then the name of a fruit/vegetable is formed.
What is the last letter of the word so
formed?

(A) K

(B) U

(C) N

(D) M

Each of the letters below has been assigned
a unique number. Select the combination
of numbers such that the corresponding
letters when arranged accordingly will form
ameaningful word.

CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

Form a meaningful word with the first,
fourth, seventh and eleventh letters of the
word ‘SUPERFLUOUS’. What is the first
letter of that word?

(A) U

(B) L

(C) P

(D) R

P-KS-1
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Q64

Q65

Q66

Ifd NUPKIPM ¥1& &1 sl i 2,
< fdft wer / Wl 1 I 9T &) S
& &1 sift o Fur 87

(A) K

(B) U

(C) N

(D) M

A1 Ry 7y v 3R @ e v argfadi
we fafde @ 18 8 | el & waE
$| TG 39 YBR X & AHY qUIT Bl
e far S, O aEER Ue weid
v 49 WY |

CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

*SUPERFLUOUS' ¥1&& & Ugdl, R, AR
3R TREd R ¥ e unfe ve-wy
T | I G BT TR AER 4T §?
(A) U

(B) L

(C) P

(D) R
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Q67

Q68

Select the second, fifth, tenth and twelfth
letters of the word ‘METROPOLITAN’
to form meaningful word(s).

If only one word can be formed, then
select the third letter of that word as the
answer. If more than one word can be
formed, then select M as the answer. If
no such word can be formed, then select
X as the answer.

(A) O

(B) P

()M

D) X

Select the number that can replace the (?)
in the following series.

22,33, 66,88, ?

(A) 84

8) 97

(C) 115

(D) 165

P-KS-1

0L1882E
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Q67 wrefs e

a9 @ fay
‘METROPOLITAN’ ¥1&% & g#R, Uied,
THd AR aNEd et T 9aT P
afd el UH W& 49 GHA 8, O I&N
D W0 H O R B AN JER BT °9IA
o | Al Us @ e v a1 waa €, @
IaR @ w9 A M3 g | ARk T B
Y& TE q1 WHaT &, O I D WY A X
BT g |

(A) O

(B) P

(C) M

(D) X

frafeifaa sjean 3 (?) &1 S8 HiaRenid
B WP qTell HEAT B a9 PN |
22,33, 66, 88, ?

(A) 84

(B) 97

(C) 115

(D) 165
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Q69 Select the number that can replace the (7) Q69
in the following series.
2,20,74,110, ?
(A) 152
(B) 182
(C) 190
(D) 210

Q70 Select the number that can replace the (?) Q70
in the following series.
2,7,14,23,7,47
(A) 21
(B) 38
(C) 34
(D) 28

3228170

Q71 Select the letter-cluster that can replace Q71
the (?) in the following series.
KPA,LQB,MRC,NSD,?

(A) OTE
(B) PER
(C) LTQ
(D) MOL

P-KS-1 21

Prefarfae sjen # (2) it orre sfenfia
&) WEHA qTel W& HT qgT B |
2,20, 74, 110, ?

(A) 152

(B) 182

(C) 190

(D) 210

fyafeifae sjwa 3 (7) @ srre wfdeenfda
T P arell HEAT BT 94T DN
2,7,14,23,?,47

(A) 21

(B) 38

(C) 34

(D) 28

fy=fafaa gaar ¥ (2) & wRwenfia
H AT IER—E BT 9T Y|

KPA,LQB,MRC,NSD,?
(A) OTE
(B) PER
(C) LTQ
(D) MOL
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Q72 Four numbers have been given, out of

Q73

P-KS-1

which three are alike in some manner and
one is different. Select the number that is
different from the rest.

720, 120,24,8,2, 1, 1

(A) 24

(B) 8

©) 2

(D) 120

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the

statement,

Statement:

The National Skill Development
Committee conducted an assessment
among their trainers and found the

performance below mandatory level.

Conclusions:

I.  The committee should immediately
organise remedial courses and training
to improve standards.

II.  The committee should terminate poor

performers and hire new trainers.

(A) Only conclusion | follows.

(B) Only conclusion II follows.

(C) Both conclusions I and 11 follow.

(D) Either conclusion I or Il follows,

22

Q72

Q73

3508170

aR ey & ¥ & e | de e
TE W 0P O § R e e &) 9w
AT T g N o a ¥ e &
720, 120,24, 8,2, 1, 1

(A) 24

(B) 8

(C) 2

(D) 120

&y v w3l el @ o= 9@ 0
3R TF B fh 99 A A P u1 FAesd
afde w9 ¥ A @Er 2 /aEn €1

DY

g PrEre fAer R 3 s wftwet
@ 419 TS AHaT B Ao fhar A
I e H1 Afrard wr ¥ A

s

1. waffy & sl § v @ g
e GuRIHS Urgassd AR wiemor
@I IS B AR |

|ty @1 @we e He arar &
&1 &1 =Ry 3w v yRerst ot
T o IRy |

(A) daa Frepd | Fq @ 8

(B) &aa fend 11 ¥ @ &)

(C) Frswd 130R 11 21 ¥ @ ¥
(D) a1 ar fewd [ ar 1 3 @ 8

II.
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Q74 Read the given paragraph carefully and

decide which of the conclusions given in
the options logically follows from the
paragraph.
Alarming level of pesticide and insepticide
residue is found in fruits and vegetables
sold in the market, causing public unrest.
The reason is farmers being forced to use
affordable chemical pesticides in large
amount to protect the harvest.
The pests, after sometime, get immune to
chemicals and hence farmers are forced
to use more harmful chemicals to
exterminate them. The government, is
however, planning to ban the use of some
harmful chemicals as they cause health
issue, thus breaking this vicious circle,

(A) Herbicides should be used by farmers
to prevent such health hazards and
portect the crop at same time.

(B) The farmers have been relying too
much on the chemiclas, long enough
for the pests to evolve and develop
resistance towards them.

(C) The goverment is going to ban all
chemical insecticides and pesticides
and their use in any form.

(D) The farmers are planning to protest

against the banning of chemical

pesticides.

P-KS-1

3588170
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Q74 v v gfede @) e § ud ol T

f faweut % § F wr frepd 9w wRwg
Y afes w9 § A @rar ¥ |
DIEARD IR PRAAID TN BT WD
R R 4 RAF e Bal AR afesat
i foar 8 s @t 3§ sram @
et aan § | {6 waa 3 FE
& fore a8 w3 wvd v et
HT IEEE B B o AegR B E
He, TP WY q1E, THEAI | AT B
gt (Qem) e @ § oir gafere
framt ot 9% T o @ forg et
BIERS T BT IUarT $39 & fog
g B USAl ® | Elifh, WHR §H
SR B D Pl el B oy BB
gifieRe Al @ Sugly 0y
yftrder @ @ A @ @ RS
2l
(A) §9 ORE B RS Haell SRl 1
AE B foIg, ARy Baa D @il
Fe & o feumt &1 e &
AT ST ARy |
(B) fram a1 & WA W sais
anfre 8 T & fores o e A A
Haa el @1 Ao g 2, afew
I wEEl & uf wioRs e
i fasfa & o 8
(€) war Wi s HhHeer 3R
st 3R 5 W vPR B 9
I IR AfEy e o 9@ #
©) fEwm wmafe Feans @
wfdg & fieg wadlw & @
AT g W@ § )
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Q75 Read the given statement and conclusions

carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:
A police officer receives a complaint that
an MP of his district is taking bribes in

order to facilitate some work.

Conclusions:

. The police officer should try to
investigate the matter and catch the
MP red-handed.

Il. The police officer should wait for
some more complaints and then
catch the MP red-handed.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions I and II follow.

(D) Neither conclusion I nor I follows.
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Q75 Ry 1y e iR frepd & & | 0@

v fAftag =¥ 5 @ a1 fPrepd 99
YA A PP ©Y A A Qrar & a7 @
g1

HU:
@ Yferd A &1 Rrema fed @
f5 svd R o1 1@ wive @p am
Fvar & o Reaa o e &)

Frepf:

L g st & wma & Sife s
IR wiwg B E o yme @
e F @iy

. g aferd o 3o ik R
BT FAGR AT AR 3R 5w wive
@1 O grif gweT ARy |

(A) daa fesd 19 @rar €1

(B) ®aa e 11 et @rar &)

(C) Frepd 13w 11 A=K ¥ @y &)

(D) = o Fr=pd [ 11 ¥ @mar
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Q76 Read the given paragraph carefully and

answer the following question.

Soil erosion is a naturally occurring
process that affects all land forms. It refers
to the wearing away of a field’s topsoil by
natural physical forces of water and wind.
Topsoil, which is high in organic matter,
fertility and soil life, majorly contributes
to the growth of crops. Soil erosion
reduces cropland productivity and causes
the pollution of watercourses, weltlands

and lakes.

170

Which of the following options does NOT g
show steps taken to prevent soil erosion?
(A) Use of proper drainage canals.

(B) Using of contour sloughing.

(C) Soil erosion is a result of mankind’s
unwise actions such as overgrazing
or unsuitable cultivating practices.

(D) Planting provides a protective cover
on land, and this allows most of the

rain water to soak into the groung
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Q76 RY Ty s @ wFgdE v alk

Frferfaa v &1 saw <)
Y-ERV UF W@rfae ® | 89 el
wisan 8 ot o 4fft & wredt @ wafa
&l 8| 78 9 AR EA1 @ yphe
W Tl gR1 U &7 A Fud A @
Hed B U §1 T Hud B, o
Frfre gerl, sdvar iR A & s
@ foy Sope exlht 2, wuar A gfy §
W W9 ¥ AMEE A 2| - ¥
P-4 & SETHT P BN & 3R
T STo-WaTs, A 3R gt ¥ wewor
grar 81
frafafea § 4 a9 w1 R g—emor
B W1 B g Io 1w FEw I T
feamar 7
(A) vt Farht & fog wfa e @
IYGIT |
(B) wHreRdr S[aTd @1 9T |
(C) q—&Rv1 #rg wifa @ agfaa
FrEl o aftary a1 Fy @
qwarft ggfrat &1 aRom 2
(D) FERTY | 4 B UH YRETeD
v e & @R orar gae A
afe 6t B 2, Wi o 9 w
T&aT & R 4 sl avfore
1 A0 fieR W o &)
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Q77 Read the given paragraph carefully and

decide which of the conclusions given in the
options logivally follows from the
paragraph.
Ina TV show, a famous nutritionist said that
among different items offered for breakfast,
muesli has more nutritional value than
regular cereals. He also said that oatmeal
is healtheir than bread. But a recent
commercial of a cereal company says that
cereals like cornflakes are richer in nutrition
than plain muesli. The consumers are
posting severe criticism on social media and
on the company website about the
misinformation in the advertisement.

(A) The nutritionist has deliberately made
that comment to generate negative
sentiments against the cereal
company.

(B) The nutritionist has high credibility
and people believe his/her words
against that of the famous cereal
company.

(C) The cereal company had done the
advertisement based on an outdated
research and the misinformation was

(D) Social media sites are increasingly
becoming popular among customers

as complaint portals.
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Q77 Ry v yRwy & &\ ¥ v 3R T

3668170

w & el § 4 o= w P g
wRede § afde v 9 A9 @@ # |
@ S oW oH, ue wihg umor fag
(Ffeafre) 3 w1 5 a1 & fog 9w
B S arell fafdy wer @ awgeit ¥,
el # WG 3 @ garr # e
qwor g 81 S g8 0 @
gferar 6 1 o d wreade #
Afe &1 8 3 U 31 Byt @ s
&1 FB1 8 5 atvaey (7es) oW a1
IR A B gore H uor F wHg #
fasmem # § v e e @Y A
ST\ Aifgar iR FEh @
qqUEE W HS! AT I @ F |
(A) UrT g 9 SFggER o feud)
Bl I3+ S B RAs FHRETS
HIGAT I~ B & fog #ie faan
gl

B) urvr fag @ga @ favaweig € 3k
1T 3 Bl B g ITD FEl
TE U RN B &

(C) 3 B A T Y Y D AR
W o= fsar on ol ag o
Ho IR—grga o |

(D) W #ifSAr wigew S @ 99
Rrama uida @ wu d oon 9
Asa 8 W E)
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Q78 Fivecolours have been given, outof which Q78 da ¥ fy 71y &, frmi & aR 5 e

Q79

four are alike in some manner and one is
different.

Select the odd one.

Green, Indigo, Pink, Orange, Yellow

(A) Orange

(B) Pink

(C) Green

(D) Yellow

Five subjects have been given, out of which
four are alike in some manner and one is
different.

Select the odd one

Physics, Chemistry, Geography, Botany,
Zoology

(A) Botany

(B) Chemistry

(C) Physics

(D) Geography

P-KS-1
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3428170

W @ N # 3R U 3T R
=1 1 31 am Y

&, e, e, A, G
(A) =iy

(B) Ty

(©) &

(D) e

g fava Ry v & R @ wr
AYE W WA § 3R U e )

WA BT T BN |

Wira fasm

(A) TRty s
B) vaaA g
(C) *Wifors fsms
(D) gt
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Q80 Five words have been given, out of which

Q81

four are alike in some manner and one is
different.

Select the odd one.

Canoe, Dinghy, Igloo, Raft, Yacht

(A) Raft

(B) Igloo

(C) Canoe

(D) Dinghy

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cliffs, Lapies, Stalactites, Sinkholes,
Stalagmites

(A) Stalactites

(B) Stalagmites

(C) Lapies

(D) Cliffs

P-KS-1
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Q80 vdhm v fRy 7y & i 9 ar 5w

Qs8I

E ¥ TP 9 € 3R @ A 8
=1 s &1 wgT R

(A) 3T

®) femgd

(C) &=

(D) =it

ig v Ry v € el ¥ ar 5
% ¥ U3 99 & 3R 0P T R
¥a 1 WA W

et Feg

(A) IRA fey (Redaese)

B) e fgw

(C) e

D) @S ugH
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Q82 Five words have been given, out of which

Q83

four are alike in some manner and one is
different.

Select the odd one.

Semicircle, Semicolon, Semifinal,
Seminar,

Semitone

(A) Semitone

(B) Semicircle

(C) Seminar

(D) Semicolon

A travel agent surveyed 100 people to find
out how many of them had visited the cities
of Mumbai and Bangalore. 31 people had
visited Mumbai, 26 people had visited
Bangalore, and 12 poeple had visited both
cities. Find the number of people who had
visited neither Mumbai nor Bangalore.
(A) 12

(B) 55

(C) 19

(D) 45
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Q82

Q83

dfg v fay v € R @ ar fed
WRE | 1P 9 & SR uE e B
A BT gIT B

(Wirh), srefvava

(A) IwH

(B) g

(€) W (W)

(D) 3R

feil Saa oie A 100 @ &1 adeor
R s e v W W f S
f §a8 ik drge e M ) 31
ST Hag 3T &, 26 AT TG Y o iR
12 T QT Wt # Y o | 99 ARy @
HET T PN, W A @ e AR T @
TGS Y |

(A) 12

(B) 55

(©) 19

(5)45

SERIES-AB



Q84 Asurvey of 500 TV viewers produced the

Q85

following information.

285 viewers watch football games, 195
viewers watch hockey games, 115 viewers
watch basketball game, 45 viewers watch
football and basketball games, 70 viewers
watch football and hockey games, 50
viewers watch hockey and basketball
games, and 50 viewers do not watch any
of three games. How many viewers watch
exactly one of the three games?

(A) 440

(B) 365

(C) 205

(D) 325

In an airline, hot drinks and iced tea were
served to 120 passengers. 75 passengers
enjoyed hot drinks and 62 enjoyed iced
tea. If 40 enjoyed both, then how many
passengers enjoyed none of the beverages?
(A) 15
(B) 12
(C) 23
(D) 25
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Q84 & @A A 500 <Y B da §U

Q85

wdeor ¥ Pr=fefea Smerd wra g8
285 a¥ia pedld Wa Ed §, 195 39
B @ <Ed & 115 gUd andedia
Qd @ ¢, 45 THF gedia R
IRBTAA W @A &, 70 S¥® gedr
AR B @a I g, 50, =xiw E
3R grdedia W I 8, AR 50 39F
g A A W PE A T F
e a3 AT @ar 3§ @ 5 ve Qe
It <@ & &

(A) 440

(B) 365

(C) 205

(D) 325

TS Tavers #, 120 ot @ g e
3R angw & W Y | 75 W A g
fea &1 areig foram ik 62 7 amgw &
@1 g forar| afk 40 3 <1 1 aFg
foran, o fam anf3t 4 g el % 9

st 1+ g w1l fera?
(A) 15
(B) 12
(C) 23
(D) 25
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Q86

Q87

Select the option that is related to the third
word in the same manner as the second
word is related to the first word.
STATUE: SIZE :: SONG : ?

(A) POETRY

(B) "'WORDS

(C) SINGER

(D) TUNE

A survey of 100 candidates with respect
to their choice of ice cream flavours -
vanilla, chocolate and strawberry-
produced the following information.

50 candidates like vanilla, 43 like
chocolate, 28 like strawberry, 13 like
vanilla and chocolate, 11 like chocolate
and strawberry, 12 like strawberry and
vanilla, and 5 like all the three flavours.
How many candidates like chocolate and
strawberry but not vanilla?

(A) 24

(B) 10

(C) 32

(D) 6

P-KS-1
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Q86

Q87

99 fawey &1 g99 o o R v 9
¥ R wafta & R yer gaw v
UEd U | Haf 2

Ufer : SHR = AT ?

(A) wfaar

(B) w=

(C) Ta®

(D) g7

100 a=afRial & wdgor | ngww
goav—-afien, diwere iR RS 3
e @ Hay F Frfafea srel wa
M |

50 apafil = afver dag @, 43 A divoe
UHE B, 28 A I[N wHE A, 13 3,
afyar iR dieae @ s B 113
divere R A% wHg A, 1273 gRY
3R afrer @1 e fFar sl 5 9 Wit
ot weraR wwE fby | O R snaedf &
fomsh divae v WA o wHe A

A afver a1 v 7€ far
(A) 24
(B) 10
(©) 32
(D) 6
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Q88

Q89

Q90

In a certain language, WOMEN is written
as OWMNE. How will NOTES be written
as in that code language?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

In a certain code language, SKEW is
written as POCY. Which word will be
written as JYQV as in that code language?
(A) JUST

(B) MUST

(C) LUST

(D) HUSK

In a certain code language, MOBILITY is
coded as 46293927. How will
EXAMINATION be coded as in that code
language?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034
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Q88

Q89

Q90

&0 v& fAfea wmar % WOMEN &1
OWMNE & &q ¥ forar man &) ot
1S W11 4 NOTES ) fbwr wa foran
STQT?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

f&d PRaa @re W # SKEW &1
POCY & &9 % foram mar 8| o¥t a1
o # JYQV @ AgHU I-w e
feran smem?

(A) JUST

(B) MUST

(C) LUST

(D) HUSK

fait AiEa @rs s %, MOBILITY &1
46293927 & wq # gewifta far
g1 S B WMT B ALHY
EXAMINATION @1 &% deifta fa
SQT?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034

SERIES-AB



Q91

Q92

Q93

SECTION-3 | GENERAL KNOWLEDGE | 40 QUESTIONS

Thecityof ____ in the state of Uttar
Pradesh is famous for brassware
manufacturing.

(A) Saharanpur

(B) Moradabad

(C) Agra

(D) Lucknow

In which year was the Banaras Hindu
University established?

(A) 1902

(B) 1910

(C) 1916

(D) 1921

Which of the following was the most
literate district of Uttar Pradesh as per the
Census of 20117

(A) Ghaziabad

(B) Kanpur Nagar

(C) Lucknow

(D) Jaunpur

P-KS-1
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Q91

Q93

IR WL g | e fiad @
79 3R sy @ fae ufg 21
(A) HERYR

(B) TR
(©) s

(D) 9@

T g Rvafigaem v of wnfta
far T ur?

(A) 1902

(B) 1910

(C) 1916

(D) 1921

2011 B STIVET B FAR, IEN oW
o1 waifte WER SFUg PE-ar ar?
(A) miSmER

(B) PITYR TX
(C) s'E &

(D) SiFgR
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Q94

Q95

Q96

Which district in Uttar Pradesh had the
highest per capita GDP for the year 20187
(A) Meerut

(B) Lucknow

(C) Gautam Budha Nagar

(D) Prayagraj (Allahabad)

Which of the following is the national flower
of Uttar Pradesh?

(A) Brahma Kamal

(B) Kandhal

(C) Rhododendrons

(D) Palash

Pradhan Mantri Kisan Samman Nidhi
(PM-KISAN) was launched in the year
2019from _____ in Uttar Pradesh.
(A) Lucknow

(B) Gorakhpur

(C) Prayagraj (Allahabad)

(D) Varanasi

P-KS-1
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Q94

Q95

Q96

IR Yo @ few ot 7 af 20183
fere wity aafey weet a¥eg Seare (i)
ey s or?

(A) R3S

(B) @@TS

(C) am dig TR

(D) WAPRIS (§eATETars)

IR W B v g Frefafea §
| B &2

(A) 7&9 FHA

(B) wferery (arffran)

(€) VSR

(D) e

T 2019 % IR w2 ¥, W w4 e
woE AR (PM-KISAN) &1 9
g% & mar an)

(A) TEGTH

(B) TRET

(C) WIrR™ (ZATEMETR)

(D) TR
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Q97

Q98

Q99

Q100

‘Dum Pukht’ is a popular process of
in Uttar Pradesh.

(A) preparing food

(B) stitchingcloth

(C) sowing seeds

(D) carving wood

Which of the following is the ceremonial
tradition of laying the food items during
meals?

(A) Zardozi

(B) Chikankari

(C) Dastarkhwan

(D) Kharija

Which city in Uttar Pradesh is called the
‘ceramic city’?

(A) Lucknow

(B) Moradabad

(C) Prayagraj (Allahabad)

(D) Khurja

, a small town in Uttar Pradesh,
is known for its decorative red clay
pottery.

(A) Bareilly

(B) Meerut

(C) Chunar

(D) Firozabad
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Q97

Q98

Q99

TAYE IR TR A A s
dafa uftear |

(A) & yBE @ fafdy

(B) wuer Rienrg

(C) 951 9™

(D) &S TR abreh

o & W99 Wigd 9ereil & woe @t
iweiRe wuwr Frefafea 3 @ 5 22
(A) SR

B) fawar

(C) TwrE™

(D) @

TR Wo W @ e wsw ) Rk Ry
BT AT 2°

(A) oS

(B). FRIanre

(C) WA (§TETaTa)

) g

Q100 ITR U & VP BIS—HT IR,

ol ot g @ womad) &<t @ forg
ST ST &

(A) a¥elt

(B) G

©) R
(D) e
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Q101 What is the other name of ‘Lucknow

Gharana’ - a style of dance and music?
(A) Uttar Gharana

(B) Nritya Gharana

(C) YogyaGharana

(D) Purab Gharana

Q102 India ranked ____ in coffee

production in the year 2017-2018.
(A) second

(B) fifth

(C) seventh

(D) ninth

Q103 Which country among the following is the

largest importer of Indian tea?
(A) USA

(B) Russia

(C) France

(D) Germany

Q104 The first jute mill was established at Rishra,

on the river Hooghly near Kolkata in the

year

(A) 1847
(B) 1855
(C) 1889
(D) 1900
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Q101 Fu 3R wia & va ol § Hafoa
TGS URET BT GERT AW a1 87
(A) STR BRI
(B) T =R
(C) 4y Bl
(D) [ &R

Q102 a¥ 2017-2018 # HfHI Iare- # ARA
M U¥ Y&l
&) TR
®) uEd
(C) wrd
(D) d

Q103 frr=fearfRaa # & @1 w1 39 AR I

& HaY 991 IAATD 87

(A) qUEY (USA)
(B) w
(C) W[
(D) ST
Q104 T ¥ P @ 9 gl

T8 W), Rerer ¥ uwelt o B # wnfia
o g oy
(A) 1847
(B) 1855
(C) 1889

(D) 1900
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Q105 Which of the following is regarded as

Asia’s largest spice market?

(A) Khari baoli - New Delhi

(B) Bapu bazaar - Jaipur

(C) Lal darwaja market - Ahmedabad

(D) Koyambedu market - Chennai

Q106 Which of the following companies is the

title sponsor for India’s cricket team?
(A) Sahara

(B) Vodoafone

(C) Reliance

(D) Paytm

Q107 In which of the following countries was

the “World Police and Fire Games’ 2019
held?

(A) Russia

(B) China

(C) Denmark

(D) Israel

Q108 Which of the following movies won the

66th National Award in 2019?
(A) Hellaro

(B) Uri: The surgical strike
(C) Andhadhun

(D) Sarala Virala
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Q105 TR &1 Ha a7 HHTen groiR Pt

i W Y e o &7

(A) @ Fraet — 78 R

(B) AT AR — SR

(C) ST SRATSI AIHE — IJEHGTES

(D) PRPEAE Ade — A=TE

Q106 Frfarfad # & I S WRa A

frdbe & & g snReRS e 87
(A) HERT

®) dremr

(C) Remw

) ¥

Q107 ‘IS Yferw Us iR W 2019 Fferiaa

# 9 frw < 3 smafra fsar man en
(A) &9

(B) @9

(C) T

(D) ToNEE

Q108 fmferflaa & | fw fbewr 21 2019 %

66T IMET TN HAIar?
(A) feamr
®) 3% f& wiiea wEs
(C) g
(D) v fawar
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Q112 India ranks number

Q109 When was the autumn equinox 2019?

(A) 23rd September
(B) 29th September
(C) 16th October
(D) 26th October

Q110 Who among the following has been

awarded the Vir Chakra in 2019?
(A) Col. Lalit Rai

(B) Havildar Chuni Lal

(C) Wg.Cdr. Abhinandan Varthaman
(D) Lt Col. Yogesh Kumar Joshi

Q111 Indiaranks in the Global Innovation

Index 2019.
(A) 47th
(B) 52nd
(C) 59th
(D) 63rd

inthe list
of countries (and dependencies) by
population.

(A) one

(B) two

(C) three

(D) four
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Q109 R g (a-fRa awm@w) 2019 %

1
(A) 23 Ricax
(B) 29 fdaw
(C) 16 AN
(D) 26 ITAR

Q110 2019#, F=fofea A A SR v @

Qll1

wefa fsar war 87

(A) e afera v

(B) §IcIER A e

(©) R ey afie adam
(D) wftede Fia Aty g S

Had g g9 2019 ¥ WRa
I W R

(A) 474

(B) 529

(C) 594

(D) 63¢

Ql12 T e & AR TR 39 (3fv Frfvar)

M AT BN B
(A) &
(B) <
(C) @+
(D) =R
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Q113 Which city of India ranked first in the Q113 9Ra & fhw wBY 3 W@ e AgA

‘Swachh Survekshan National Ranking’ Wd' 2019 # ygar w= wa fHar
20197 (A) et

(A) Bhopal ®) wRE

(B) Jamshedpur (C) ¥R

(C) Indore (D) @Y

(D) Khargone

Q114 The Goods and Services Tax (GST)was Q114 a%] Ud ¥ar & (GST) WRd # 1 Jaire,

introduced in Indiaon IstJuly, . &1 e far o)
(A) 2014 (A) 2014
(B) 2016 (B) 2016
(C) 2017 (é) 2017
(D) 2018 (D) 2018

Q115 The special power of the Rajya Sabha to 4 Q115 o o & fadw ufda W v @

empower the Parliament to make laws in 1 YR JuATHY WfEmE @ sy
respect of any matter enumerated in the . i g @ 5 9w =
State List by adopting a resolution to this A e e o e @ wEw |
effect is given in Article of the oA T @ faY W @Y e
constitution. S |

(A) 128 (A) 128

(B)- 198 (B) 198

(C) 223 (C) 223

(D) 249 (D) 249
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Q116 Department-related Standing Committees

were set up in to scrutinise the
functioning of the various Ministries/
Departments of the Union Government
assigned to them in order to further
strengthen the accountability of the
Government to Parliament.

(A) 1991

(B) 1993

(C) 1999

(D) 2000

Q117 How many states with Fifth Schedule Areas

are covered under the Provisions of the
Panchayats (Extension to the Scheduled
Areas) Act, 1996?

A) 7

(B) 9

(C) 10

D) 13

Q118 Under the provisions of Article

a joint sitting of the Lok Sabha and the
Rajya Sabha can be called by the President.
(A) 93

(B) 105

(C) 108

(D) 116
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Q116 dg WHR & A= Harerdt / famt @

P A St e B g RmmT | Wl
o whfet @ e
o 1E ff afe wag @ ufy wwer
SRET U F ey S
(A) 1991
(B) 1993
(C) 1999
(D) 2000

Q117 dfed Jrgereht & (Rhwer Rrgger o)

ar o oy, Yergdl (e At
e favga) @ Hala afdfrm, 1996 &
RGO G814

(A) 7

(B) 9

©) 10

(D) 13

Q118 arga?a_a‘»maaﬁia%asamn

AR IS B wgT 5T B WUl
FART AT AT HHeT & |

(A) 93

(B) 105

(C) 108

(D) 116
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Q119 In the event of a tie while voting in the

Lok Sabha, the has the casting
vote,

(A) Prime Minister

(B) Speaker

(C) President

(D) Vice President

Q120 Which state in India has a city nearest to

the Tropic of Cancer in India?
(A) Mizoram

(B) Madhya Pradesh

(C) Tripura

(D) Chhattisgarh

Q121 Identify the neighbouring nation with which

India shares the longest boundary.
(A) Nepal

(B) China

(C) Myanmar

(D) Bangladesh
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Q119 FGHHI # Aae™ H WY 218 a1 Rufdy

3 R e o JReR
grar 21

(A) wuT= w4l

(B) wiwv

(©) wf

(D) Surszuf

Q120 WRa & 5w v ¥ wRa § 9 Y@

(s oifs dww) @ afy wiver o
e #?

(A) s

(B) ™4 waw

(C) Prgar
(D) B&INTTS

Q121 TH TSR W &I IFHH HX foraD ey

HIRG AU a8 i) T A S §
(A) =T
B)
(C) ®WR
(D) aremes
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Q122 The Indian peninsular extends in to the

(A) Arabian Sea
(B) Indian Ocean
(C) Himalayas
(D) Bay of Bengal

Q123 Which of the following is the world’s largest

gorge?

(A) Copper Canyon
(B) ColcaCanyon

(C) FishRiver Canyon

(D) The Grand Canyon

Q124 Which of the following is the world’s largest

river island?

(A) DivarIsland - Goa

(B) Quibble Island - Tamil Nadu
(C) Munroe Island - Kerala

(D) Majuli-Assam

Q125 the calligrapher of the Taj Mahal,

built and completed it in 1648 A.D.
(A) Gyasuddin

(B) Al-Bukhaari

(C) Amanat Khan Shirazi

(D) Muhammad Abduh

P-KS-1
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Q122 AR WrISdYg TP el g

2l

(A) 39 WY
B) BT W
(C) ferera

(D) @TTel B W

Q123 fr=iferiaa % & gfvar A waw o urdh

o /R

(A) BIR D=
(B) BIchT H
(C) e Vav d=u+
(D) & #=e B

Q124 f=iferlRae # & #=, gfrar &1 wa ¥ w1

TRz &7

(A) fear gdu — wmar

(B) Fhae gd — afierrg
(©€) T g — I
(D) el — 3

Q125 TrEd @ gorad (dformmey)

A, 1648 WA % EDHI TG B 3R G
far |

(A) TIRgEE

(B) rci—ga@m

(C) 3w @ R

(D) o™ 3regE
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Q126 The freedom fighters Bhagat Singh, Q126 wci=aT |ftal wra Rie, g@a 3R
Sukhdev and Rajguru were hanged to AEIH B H wit &
death in ; " o &) T o)
(A) 1929 S (A 1929
(B) 1931 (B) 1931
,L (C) 1934 (C) 1934
(D) 1939 (D) 1939
|
Q127In _______, the British Government  QI27 A, fafewr wWwor I wra A
announced certain reforms in the structure WHR B WG § P GuRT Y agon
of the Government in India, which were @1, 5 A-fieY gur @ w9 § W
known as the Morley-Minto Reforms. GITCHT & |
(A) 1903 (A) 1903
(B) 1909 (B) 1909
(C) 1912 (C) 1912
(D) 1939 (D) 1939
Q128 Udyog Bandhu is an IS/ISO 9001:2008 Q128 5T ¥ waw IR FRY B 929G A
certified _____ tier body of the SeanT ?EL IER U9 WIHR FT IS/ISO
Government of Uttar Pradesh for the 9001:2008 SR b
purpose of setting up of businesses in the oy 2 afe 78 Wi g et
state and covers all industrial approvals. F wmRa Fea &)
& (A) one (A) T
(B) two (B) @
: (C) three (C) &=
(D) four (D) TR
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Q129 Uttar Pradesh ranks intermsof Q129 ¥R ¥ Wiveawy Frafa @ gfe ¥ saw

software exports from India. WY WM W B
(A) first (A) ugd
(B) second (B) g
(C) third (C) W
(D) fourth (D) =
Q130 Uttar Pradeshranked ____intermsof Q130 @¥ 2018 % W5y &1 SR1 & Tl WX,
domestic tourists visiting the state in the Udedl & AMe § SR Wew
year 2018. ®IF W ¥
(A) first (A) werm
(B) second (B) T
(C) third S (C) d e
(D) fourth (D) =y
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ROUGH WORK /3% & & forw

022242

[/
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ROUGH WORK /%% &1 & farw
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Read the following Instructions carefully :

Frafafaa fdal &) am @ w2 -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4, The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
seat.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with

2022952

n

. g

. e

. WE 7 o forv Ry 2 aw el § 9

Wel SR @ fY 3l U9, IR, ST 95 W
Bacd [P T B 8 I TS P a1 Uige
9 ¥ W | UH IR IR 3ifba By oF B

415 I qgAT TE W7 HHer 8|

el ghied s 3 S =F 3 G
9 WY U9 99 W IE 37 e 5 @)
wierefl Juer swEHIe ST uEe A
i wm & sifiRa s 71 ford

Ud ST UAG B AFYED

AR &R, d4bis & 9 ok § @aa

GE gR®T H T B OIS HY) gAY T

gRE®T U9 ST UFS SUGE TRl BNl

méﬁﬂ:ﬂﬁ?ﬁwm gk de
&l

& ylarll w8 a8 4 Sufefy v 3

fordd |

. g8 I WY Y@ qdemd], o srdas

YT WAy vF @ |

. e I1 el AEd o fady sgEfa @

&1 o1 wfemlt ager e T B

. BIIRG B8 NP DI AYAT ST UHD U

fe ofemft e wm S B af
faeit ademelt < SufRefey = W sxamr T8
T @ a8 W W @ 99 ST UEe
TE! wifern & 3R a8 i s &1 Amer
HET TG |

e/ geagiiie / exaaiera YReaS a1
TuanT afdfa &1

. uden gfet ¥ R & fog gdemdt amanr &

Wit el ve Rfast g Frafia 2 ) sgfaa
gl @ Wit yawol &1 BEar A B
et w@ RfaEl @ agar g

10.99&T & YN 3ped] ST UAD R A0S

I ofter ¥ ardes g e BT ST
= it angedt wfty /et wfty svaa ovig
g e o SuRia € wE o Bre @
FFafa @ e | IR gAS Bt apeft ufy
el D1 AU WY o WF @ Il )

1. 90 @& Suvia ydarll st gdan gRaer

them. They have to submit the Test Booklet to the e Faaas @I dter s | uder gk
Invigilator after the exam. & qfereff o wre E @ W wad
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